Final exam review 2016, probs from Ch 11

$$7.a.f = \frac{3}{2+5x} = \frac{3}{2(1+\frac{5x}{2})} = \frac{3}{2(1-\frac{5x}{2})}$$

$$= \frac{3}{2} \sum_{n=0}^{\infty} \left(\frac{-5x}{2} \right)^n = \frac{3}{2} \sum_{n=0}^{\infty} \frac{(-5)^n x^n}{2^n}$$
 correct

$$= \sum_{n=0}^{\infty} \frac{3(-1)^n 5^n}{2^{n+1}} \times n^{-1}$$

$$= \underbrace{\frac{3(-1)^{n}5^{n}}_{n=0}}_{2^{n+1}} \times \underbrace{\qquad exprisinal}_{n=0}$$

b.
$$f = \frac{1}{2+x} = \frac{1}{2(1+\frac{x}{2})} = \frac{1}{2(1-(\frac{-x}{2}))}$$

$$= \frac{1}{2} \sum_{n=0}^{\infty} \left(\frac{-x}{2} \right)^n = \frac{1}{2} \sum_{n=0}^{\infty} \frac{(-1)^n x^n}{2^n} = \sum_{n=0}^{\infty} \frac{(-1)^n x^n}{2^{n+1}}$$

$$C \cdot \frac{d}{dx} \left(\frac{1}{2+x} \right) = \frac{-1}{(2+x)^2}$$

$$\frac{d}{dx}\left(\frac{1}{2+x}\right)^{2} = -\frac{d}{dx}\left(\frac{1}{2+x}\right)^{2} = -\frac{d}{dx}\left(\frac{2}{2+x}\right)^{2} = -\frac{d}{dx}\left(\frac{2}$$

$$= -1 \sum_{n=0}^{\infty} \frac{(-1)^n n \times^{n-1}}{2^{n+1}} = \sum_{n=1}^{\infty} \frac{(-1)^n n \times^{n-1}}{2^{n+1}}$$

7d.
$$\int \frac{1}{2+x} dx = \int \frac{1}{u} du = \ln|u| + c = \ln|2+x| + c$$

$$|2+x| = \int \frac{1}{2+x} dx \ (\#c')$$

 $= \int \frac{\infty}{2+x} \frac{(-1)^n x}{x} dx = \frac{\infty}{2} \frac{(-1)^n x^{n+1}}{x^{n+1}} + C$
 $= \int \frac{1}{2+x} dx \ (\#c')$

$$ln|2+x|=ln2+\frac{2}{2}(-1)^{n}x^{n+1}$$

8a.
$$ln(1.5)=ln(1+.5)=\frac{2}{5}(-1)^{n-1}.5^{n}$$
 = plug.5=x
 $ln(1+x)$
 $ln(1+x)$
 $ln(1+x)$
 $ln(1+x)$
 $ln(1+x)$

$$= \frac{.5}{1} - \frac{.5^{3}}{2} + \frac{.5^{3}}{3} - \frac{.5^{4}}{4} + \frac{.5^{5}}{5} \approx .4073$$

8b.
$$e^3 = \frac{3}{8} \frac{3}{n!} \approx \frac{4}{5} \frac{3}{n!} = \frac{1}{1} + \frac{3}{1} + \frac{3}{2} + \frac{3}{3!} + \frac{3}{4!}$$

$$|0| \quad a_{n} \quad \sin(x^{2}) = \sum_{n=0}^{\infty} \frac{(-1)^{n} (x^{2})^{2n+1}}{(2n+1)!} = \sum_{n=0}^{\infty} \frac{(-1)^{n} x^{4n+2}}{(2n+1)!}$$

$$\int_{0}^{1} \sin(x^{2}) dx = \int_{0}^{1} \sum_{n=0}^{\infty} \frac{(-1)^{n} x^{4n+2}}{(2n+1)!} dx$$

$$= \sum_{n=0}^{\infty} \frac{(-1)^{n} x^{4n+3}}{(2n+1)! (4n+3)} dx$$

$$\approx \sum_{n=0}^{\infty} \frac{(-1)^{n} x^{4n+3}}{(2n+1)! (4n+3)} dx$$

$$\approx \sum_{n=0}^{\infty} \frac{(-1)^{n} x^{4n+3}}{(2n+1)! (4n+3)} dx$$

$$\approx \sum_{n=0}^{\infty} \frac{(-1)^{n} x^{4n+3}}{(2n+1)! (4n+3)} dx$$

$$=\frac{1}{1! \cdot 3} - \frac{1}{3! \cdot 7} + \frac{1}{5! \cdot 11} - \frac{1}{7! \cdot 13} - 0$$

10b.
$$ln(1+x^3) = \frac{2}{2}(-1)^{n-1}\frac{(x^3)^n}{n} = \frac{2}{2}(-1)^{n-1}\frac{3n}{x}$$

$$\int_{0}^{.5} \ln(1+x^{3}) dx = \int_{0}^{.500} \frac{(-1)^{n-1} x^{3n}}{n} dx =$$

$$= \frac{2}{2} \frac{(-1)^{n-1} x^{3n+1}}{n(3n+1)} \Big|_{0}^{5} \approx \frac{(-1)^{n-1} x^{3n+1}}{n(3n+1)} \Big|_{0}^{5}$$

$$= \underbrace{\frac{4}{5} \frac{(-1)^{n-1} \cdot (.5)^{3n+1}}_{n=1} - \underbrace{\frac{4}{5} \frac{(-1)^{n-1} \cdot 3^{n+1}}_{n=1}}_{n=1} \frac{3^{n+1}}{n \cdot (3^{n+1})}$$

$$= \frac{(.5)^{4}}{1.4} - \frac{(.5)^{7}}{2.7} + \frac{(.5)^{10}}{3.10} - \frac{(.5)^{13}}{4.13} - 0$$

2 .0151